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Dr. Cary Willard

Quiz 6A (20 points)




October 20, 1998

All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

PV = nRT,  R = 0.0821 L atm / mol K = 62.4 L torr / mol K

760 torr = 760 mm Hg = 1.00 atm,    0oC = 273.2K

1. (10 points) A 5.00 L container of nitrogen contains nitrogen gas (N2) at a pressure of 928 torr and a temperature of 40.0oC.  

a) How many moles of nitrogen are there in the container?

b) How many molecules of nitrogen are there in the container?

2. (10 points) A balloon fissed with air has a volume of 3.25 L at 30oC and is placed in a freezer at -10oC.  What is the volume of the balloon at -10oC?
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All work must be shown to receive credit.

Avogadro's number = 6.02 x 1023 / mole

PV = nRT,  R = 0.0821 L atm / mol K = 62.4 L torr / mol K

760 torr = 760 mm Hg = 1.00 atm,    0oC = 273.2K

1. (10 points) A 5.00 L container of nitrogen contains nitrogen gas (N2) at a pressure of 982 torr and a temperature of 40.0oC.  

a) How many moles of nitrogen are there in the container?

b) How many molecules of nitrogen are there in the container?

2. (10 points) A balloon fissed with air has a volume of 4.25 L at 30oC and is placed in a freezer at -10oC.  What is the volume of the balloon at -10oC?

